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11. 23,480

12. 12,882
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1-10 92 83 75 67 58 50 42 33 25 17
11-12 8 0

1)
402 × 25 =

4 0 2
0

2

0

0

0

1

0 5 0
0

1
2

5
0

8

0

0

0

4

2)
709 × 33 =

7 0 9
2

2

0

0

2

2

3 9 7
3

2
3

3
1

1

0

0

7

7

3)
500 × 81 =

5 0 0
4

0

0

0

0

0

5 0 0
0

4
8

1
5

0

0

0

0

0

4)
588 × 99 =

5 8 8
4

4

7

7

7

7

2 1 2
8

5
9

9
5

5

2

2

2

2

5)
196 × 48 =

1 9 6
0

0

3

7

2

4

4 0 8
9

0
4

8
8

4

2

6

8

4

6)
116 × 55 =

1 1 6
0

0

0

0

3

3

3 8 0
6

0
5

5
5

5

5

5

0

0

7)
281 × 84 =

2 8 1
1

0

6

3

0

0

6 0 4
3

2
8

4
8

6

2

4

4

8

8)
439 × 97 =

4 3 9
3

2

2

2

8

6

5 8 3
2

4
9

7
8

6

1

7

3

1

9)
395 × 37 =

3 9 5
0

2

2

6

1

3

6 1 5
4

1
3

7
1

9

3

7

5

5

10)
152 × 80 =

1 5 2
0

0

4

0

1

0

1 6 0
2

1
8

0
0

8

0

0

0

6

11)
587 × 40 =

5 8 7
2

0

3

0

2

0

4 8 0
3

2
4

0
0

0

0

2

0

8

12)
339 × 38 =

3 3 9
0

2

0

2

2

7

8 8 2
2

1
3

8
4

9

4

9

2

7

1. 10,050

2. 23,397

3. 40,500

4. 58,212

5. 9,408

6. 6,380

7. 23,604

8. 42,583

9. 14,615

10. 12,160

11. 23,480

12. 12,882
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1-10 92 83 75 67 58 50 42 33 25 17
11-12 8 0

1)
667 × 81 =

6 6 7
4

0

4

0

5

0

0 2 7
4

5
8

1
6

8

6

8

7

6

2)
252 × 41 =

2 5 2
0

0

2

0

0

0

3 3 2
0

1
4

1
2

8

5

0

2

8

3)
410 × 90 =

4 1 0
3

0

0

0

0

0

9 0 0
6

3
9

0
0

6

0

9

0

0

4)
462 × 65 =

4 6 2
2

2

3

3

1

1

0 3 0
0

3
6

5
0

4

0

6

0

2

5)
642 × 18 =

6 4 2
0

4

0

3

0

1

5 5 6
1

1
1

8
8

6

2

4

6

2

6)
642 × 15 =

6 4 2
0

3

0

2

0

1

6 3 0
9

0
1

5
0

6

0

4

0

2

7)
333 × 95 =

3 3 3
2

1

2

1

2

1

6 3 5
1

3
9

5
5

7

5

7

5

7

8)
791 × 54 =

7 9 1
3

2

4

3

0

0

7 1 4
2

4
5

4
8

5

6

5

4

5

9)
867 × 24 =

8 6 7
1

3

1

2

1

2

8 0 8
0

2
2

4
2

6

4

2

8

4

10)
142 × 99 =

1 4 2
0

0

3

3

1

1

0 5 8
4

1
9

9
9

9

6

6

8

8

11)
624 × 93 =

6 2 4
5

1

1

0

3

1

0 3 2
8

5
9

3
8

4

6

8

2

6

12)
515 × 87 =

5 1 5
4

3

0

0

4

3

8 0 5
4

4
8

7
5

0

7

8

5

0

1. 54,027

2. 10,332

3. 36,900

4. 30,030

5. 11,556

6. 9,630

7. 31,635

8. 42,714

9. 20,808

10. 14,058

11. 58,032

12. 44,805
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1-10 92 83 75 67 58 50 42 33 25 17
11-12 8 0

1)
667 × 81 =

6 6 7
4

0

4

0

5

0

0 2 7
4

5
8

1
6

8

6

8

7

6

2)
252 × 41 =

2 5 2
0

0

2

0

0

0

3 3 2
0

1
4

1
2

8

5

0

2

8

3)
410 × 90 =

4 1 0
3

0

0

0

0

0

9 0 0
6

3
9

0
0

6

0

9

0

0

4)
462 × 65 =

4 6 2
2

2

3

3

1

1

0 3 0
0

3
6

5
0

4

0

6

0

2

5)
642 × 18 =

6 4 2
0

4

0

3

0

1

5 5 6
1

1
1

8
8

6

2

4

6

2

6)
642 × 15 =

6 4 2
0

3

0

2

0

1

6 3 0
9

0
1

5
0

6

0

4

0

2

7)
333 × 95 =

3 3 3
2

1

2

1

2

1

6 3 5
1

3
9

5
5

7

5

7

5

7

8)
791 × 54 =

7 9 1
3

2

4

3

0

0

7 1 4
2

4
5

4
8

5

6

5

4

5

9)
867 × 24 =

8 6 7
1

3

1

2

1

2

8 0 8
0

2
2

4
2

6

4

2

8

4

10)
142 × 99 =

1 4 2
0

0

3

3

1

1

0 5 8
4

1
9

9
9

9

6

6

8

8

11)
624 × 93 =

6 2 4
5

1

1

0

3

1

0 3 2
8

5
9

3
8

4

6

8

2

6

12)
515 × 87 =

5 1 5
4

3

0

0

4

3

8 0 5
4

4
8

7
5

0

7

8

5

0

1. 54,027

2. 10,332

3. 36,900

4. 30,030

5. 11,556

6. 9,630

7. 31,635

8. 42,714

9. 20,808

10. 14,058

11. 58,032

12. 44,805
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1-10 92 83 75 67 58 50 42 33 25 17
11-12 8 0

1)
841 × 15 =

8 4 1
0

4

0

2

0

0

6 1 5
2

1
1

5
0

8

0

4

5

1

2)
318 × 92 =

3 1 8
2

0

0

0

7

1

2 5 6
9

2
9

2
6

7

2

9

6

2

3)
341 × 96 =

3 4 1
2

1

3

2

0

0

7 3 6
2

3
9

6
8

7

4

6

6

9

4)
126 × 85 =

1 2 6
0

0

1

1

4

3

7 1 0
0

1
8

5
5

8

0

6

0

8

5)
839 × 48 =

8 3 9
3

6

1

2

3

7

2 7 2
0

4
4

8
4

2

4

2

2

6

6)
788 × 46 =

7 8 8
2

4

3

4

3

4

2 4 8
6

3
4

6
2

8

8

2

8

2

7)
945 × 73 =

9 4 5
6

2

2

1

3

1

9 8 5
8

6
7

3
7

3

2

8

5

5

8)
602 × 54 =

6 0 2
3

2

0

0

1

0

5 0 8
2

3
5

4
4

0

0

0

8

0

9)
129 × 89 =

1 2 9
0

0

1

1

7

8

4 8 1
1

1
8

9
9

8

8

6

1

2

10)
784 × 75 =

7 8 4
4

3

5

4

2

2

8 0 0
8

5
7

5
5

9

0

6

0

8

11)
118 × 81 =

1 1 8
0

0

0

0

6

0

5 5 8
9

0
8

1
1

8

1

8

8

4

12)
254 × 70 =

2 5 4
1

0

3

0

2

0

7 8 0
7

1
7

0
0

4

0

5

0

8

1. 12,615

2. 29,256

3. 32,736

4. 10,710

5. 40,272

6. 36,248

7. 68,985

8. 32,508

9. 11,481

10. 58,800

11. 9,558

12. 17,780
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1-10 92 83 75 67 58 50 42 33 25 17
11-12 8 0

1)
841 × 15 =

8 4 1
0

4

0

2

0

0

6 1 5
2

1
1

5
0

8

0

4

5

1

2)
318 × 92 =

3 1 8
2

0

0

0

7

1

2 5 6
9

2
9

2
6

7

2

9

6

2

3)
341 × 96 =

3 4 1
2

1

3

2

0

0

7 3 6
2

3
9

6
8

7

4

6

6

9

4)
126 × 85 =

1 2 6
0

0

1

1

4

3

7 1 0
0

1
8

5
5

8

0

6

0

8

5)
839 × 48 =

8 3 9
3

6

1

2

3

7

2 7 2
0

4
4

8
4

2

4

2

2

6

6)
788 × 46 =

7 8 8
2

4

3

4

3

4

2 4 8
6

3
4

6
2

8

8

2

8

2

7)
945 × 73 =

9 4 5
6

2

2

1

3

1

9 8 5
8

6
7

3
7

3

2

8

5

5

8)
602 × 54 =

6 0 2
3

2

0

0

1

0

5 0 8
2

3
5

4
4

0

0

0

8

0

9)
129 × 89 =

1 2 9
0

0

1

1

7

8

4 8 1
1

1
8

9
9

8

8

6

1

2

10)
784 × 75 =

7 8 4
4

3

5

4

2

2

8 0 0
8

5
7

5
5

9

0

6

0

8

11)
118 × 81 =

1 1 8
0

0

0

0

6

0

5 5 8
9

0
8

1
1

8

1

8

8

4

12)
254 × 70 =

2 5 4
1

0

3

0

2

0

7 8 0
7

1
7

0
0

4

0

5

0

8

1. 12,615

2. 29,256

3. 32,736

4. 10,710

5. 40,272

6. 36,248

7. 68,985

8. 32,508

9. 11,481

10. 58,800

11. 9,558

12. 17,780
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1-10 92 83 75 67 58 50 42 33 25 17
11-12 8 0

1)
705 × 71 =

7 0 5
4

0

0

0

3

0

0 5 5
0

5
7

1
7

9

0

0

5

5

2)
377 × 79 =

3 7 7
2

2

4

6

4

6

7 8 3
9

2
7

9
7

1

3

9

3

9

3)
267 × 39 =

2 6 7
0

1

1

5

2

6

4 1 3
0

1
3

9
8

6

4

8

3

1

4)
568 × 43 =

5 6 8
2

1

2

1

3

2

4 2 4
4

2
4

3
5

0

8

4

4

2

5)
812 × 86 =

8 1 2
6

4

0

0

1

1

8 3 2
9

6
8

6
8

4

6

8

2

6

6)
976 × 12 =

9 7 6
0

1

0

1

0

1

7 1 2
1

1
1

2
8

9

4

7

2

6

7)
309 × 79 =

3 0 9
2

2

0

0

6

8

4 1 1
4

2
7

9
7

1

0

0

1

3

8)
536 × 52 =

5 3 6
2

1

1

0

3

1

8 7 2
7

2
5

2
0

5

6

5

2

0

9)
404 × 97 =

4 0 4
3

2

0

0

3

2

1 8 8
9

3
9

7
8

6

0

0

8

6

10)
125 × 11 =

1 2 5
0

0

0

0

0

0

3 7 5
1

0
1

1
1

1

2

2

5

5

11)
227 × 26 =

2 2 7
0

1

0

1

1

4

9 0 2
5

0
2

6
2

4

2

4

2

4

12)
594 × 37 =

5 9 4
1

3

2

6

1

2

9 7 8
1

2
3

7
5

5

3

7

8

2

1. 50,055

2. 29,783

3. 10,413

4. 24,424

5. 69,832

6. 11,712

7. 24,411

8. 27,872

9. 39,188

10. 1,375

11. 5,902

12. 21,978
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1-10 92 83 75 67 58 50 42 33 25 17
11-12 8 0

1)
705 × 71 =

7 0 5
4

0

0

0

3

0

0 5 5
0

5
7

1
7

9

0

0

5

5

2)
377 × 79 =

3 7 7
2

2

4

6

4

6

7 8 3
9

2
7

9
7

1

3

9

3

9

3)
267 × 39 =

2 6 7
0

1

1

5

2

6

4 1 3
0

1
3

9
8

6

4

8

3

1

4)
568 × 43 =

5 6 8
2

1

2

1

3

2

4 2 4
4

2
4

3
5

0

8

4

4

2

5)
812 × 86 =

8 1 2
6

4

0

0

1

1

8 3 2
9

6
8

6
8

4

6

8

2

6

6)
976 × 12 =

9 7 6
0

1

0

1

0

1

7 1 2
1

1
1

2
8

9

4

7

2

6

7)
309 × 79 =

3 0 9
2

2

0

0

6

8

4 1 1
4

2
7

9
7

1

0

0

1

3

8)
536 × 52 =

5 3 6
2

1

1

0

3

1

8 7 2
7

2
5

2
0

5

6

5

2

0

9)
404 × 97 =

4 0 4
3

2

0

0

3

2

1 8 8
9

3
9

7
8

6

0

0

8

6

10)
125 × 11 =

1 2 5
0

0

0

0

0

0

3 7 5
1

0
1

1
1

1

2

2

5

5

11)
227 × 26 =

2 2 7
0

1

0

1

1

4

9 0 2
5

0
2

6
2

4

2

4

2

4

12)
594 × 37 =

5 9 4
1

3

2

6

1

2

9 7 8
1

2
3

7
5

5

3

7

8

2

1. 50,055

2. 29,783

3. 10,413

4. 24,424

5. 69,832

6. 11,712

7. 24,411

8. 27,872

9. 39,188

10. 1,375

11. 5,902

12. 21,978
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1-10 92 83 75 67 58 50 42 33 25 17
11-12 8 0

1)
966 × 39 =

9 6 6
2

8

1

5

1

5

6 7 4
7

3
3

9
1

7

4

8

4

8

2)
579 × 25 =

5 7 9
1

2

1

3

1

4

4 7 5
4

1
2

5
5

0

5

4

5

8

3)
679 × 34 =

6 7 9
1

2

2

2

2

3

0 8 6
3

2
3

4
4

8

8

1

6

7

4)
171 × 39 =

1 7 1
0

0

2

6

0

0

6 6 9
6

0
3

9
9

3

3

1

9

3

5)
430 × 99 =

4 3 0
3

3

2

2

0

0

5 7 0
2

4
9

9
6

6

7

7

0

0

6)
971 × 72 =

9 7 1
6

1

4

1

0

0

9 1 2
9

6
7

2
8

3

4

9

2

7

7)
153 × 19 =

1 5 3
0

0

0

4

0

2

9 0 7
2

0
1

9
9

1

5

5

7

3

8)
391 × 79 =

3 9 1
2

2

6

8

0

0

8 8 9
0

3
7

9
7

1

1

3

9

7

9)
911 × 11 =

9 1 1
0

0

0

0

0

0

0 2 1
0

1
1

1
9

9

1

1

1

1

10)
794 × 89 =

7 9 4
5

6

7

8

3

3

6 6 6
0

7
8

9
3

6

1

2

6

2

11)
243 × 12 =

2 4 3
0

0

0

0

0

0

9 1 6
2

0
1

2
4

2

8

4

6

3

12)
981 × 61 =

9 8 1
5

0

4

0

0

0

8 4 1
9

5
6

1
9

4

8

8

1

6

1. 37,674

2. 14,475

3. 23,086

4. 6,669

5. 42,570

6. 69,912

7. 2,907

8. 30,889

9. 10,021

10. 70,666

11. 2,916

12. 59,841
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1-10 92 83 75 67 58 50 42 33 25 17
11-12 8 0

1)
966 × 39 =

9 6 6
2

8

1

5

1

5

6 7 4
7

3
3

9
1

7

4

8

4

8

2)
579 × 25 =

5 7 9
1

2

1

3

1

4

4 7 5
4

1
2

5
5

0

5

4

5

8

3)
679 × 34 =

6 7 9
1

2

2

2

2

3

0 8 6
3

2
3

4
4

8

8

1

6

7

4)
171 × 39 =

1 7 1
0

0

2

6

0

0

6 6 9
6

0
3

9
9

3

3

1

9

3

5)
430 × 99 =

4 3 0
3

3

2

2

0

0

5 7 0
2

4
9

9
6

6

7

7

0

0

6)
971 × 72 =

9 7 1
6

1

4

1

0

0

9 1 2
9

6
7

2
8

3

4

9

2

7

7)
153 × 19 =

1 5 3
0

0

0

4

0

2

9 0 7
2

0
1

9
9

1

5

5

7

3

8)
391 × 79 =

3 9 1
2

2

6

8

0

0

8 8 9
0

3
7

9
7

1

1

3

9

7

9)
911 × 11 =

9 1 1
0

0

0

0

0

0

0 2 1
0

1
1

1
9

9

1

1

1

1

10)
794 × 89 =

7 9 4
5

6

7

8

3

3

6 6 6
0

7
8

9
3

6

1

2

6

2

11)
243 × 12 =

2 4 3
0

0

0

0

0

0

9 1 6
2

0
1

2
4

2

8

4

6

3

12)
981 × 61 =

9 8 1
5

0

4

0

0

0

8 4 1
9

5
6

1
9

4

8

8

1

6

1. 37,674

2. 14,475

3. 23,086

4. 6,669

5. 42,570

6. 69,912

7. 2,907

8. 30,889

9. 10,021

10. 70,666

11. 2,916

12. 59,841

     

Use lattice multiplication to solve each problem.

Lattice 3 by 2
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1-10 92 83 75 67 58 50 42 33 25 17
11-12 8 0

1)
468 × 60 =

4 6 8
2

0

3

0

4

0

0 8 0
8

2
6

0
0

4

0

6

0

8

2)
987 × 52 =

9 8 7
4

1

4

1

3

1

3 2 4
1

5
5

2
8

5

6

0

4

5

3)
668 × 14 =

6 6 8
0

2

0

2

0

3

3 5 2
9

0
1

4
4

6

4

6

2

8

4)
310 × 73 =

3 1 0
2

0

0

0

0

0

6 3 0
2

2
7

3
9

1

3

7

0

0

5)
544 × 81 =

5 4 4
4

0

3

0

3

0

0 6 4
4

4
8

1
5

0

4

2

4

2

6)
845 × 34 =

8 4 5
2

3

1

1

1

2

7 3 0
8

2
3

4
2

4

6

2

0

5

7)
340 × 29 =

3 4 0
0

2

0

3

0

0

8 6 0
9

0
2

9
7

6

6

8

0

0

8)
959 × 55 =

9 5 9
4

4

2

2

4

4

7 4 5
2

5
5

5
5

5

5

5

5

5

9)
221 × 56 =

2 2 1
1

1

1

1

0

0

3 7 6
2

1
5

6
2

0

2

0

6

5

10)
662 × 56 =

6 6 2
3

3

3

3

1

1

0 7 2
7

3
5

6
6

0

6

0

2

0

11)
138 × 54 =

1 3 8
0

0

1

1

4

3

4 5 2
7

0
5

4
4

5

2

5

2

0

12)
127 × 41 =

1 2 7
0

0

0

0

2

0

2 0 7
5

0
4

1
1

4

2

8

7

8

1. 28,080

2. 51,324

3. 9,352

4. 22,630

5. 44,064

6. 28,730

7. 9,860

8. 52,745

9. 12,376

10. 37,072

11. 7,452

12. 5,207

     

Use lattice multiplication to solve each problem.

Lattice 3 by 2
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1-10 92 83 75 67 58 50 42 33 25 17
11-12 8 0

1)
468 × 60 =

4 6 8
2

0

3

0

4

0

0 8 0
8

2
6

0
0

4

0

6

0

8

2)
987 × 52 =

9 8 7
4

1

4

1

3

1

3 2 4
1

5
5

2
8

5

6

0

4

5

3)
668 × 14 =

6 6 8
0

2

0

2

0

3

3 5 2
9

0
1

4
4

6

4

6

2

8

4)
310 × 73 =

3 1 0
2

0

0

0

0

0

6 3 0
2

2
7

3
9

1

3

7

0

0

5)
544 × 81 =

5 4 4
4

0

3

0

3

0

0 6 4
4

4
8

1
5

0

4

2

4

2

6)
845 × 34 =

8 4 5
2

3

1

1

1

2

7 3 0
8

2
3

4
2

4

6

2

0

5

7)
340 × 29 =

3 4 0
0

2

0

3

0

0

8 6 0
9

0
2

9
7

6

6

8

0

0

8)
959 × 55 =

9 5 9
4

4

2

2

4

4

7 4 5
2

5
5

5
5

5

5

5

5

5

9)
221 × 56 =

2 2 1
1

1

1

1

0

0

3 7 6
2

1
5

6
2

0

2

0

6

5

10)
662 × 56 =

6 6 2
3

3

3

3

1

1

0 7 2
7

3
5

6
6

0

6

0

2

0

11)
138 × 54 =

1 3 8
0

0

1

1

4

3

4 5 2
7

0
5

4
4

5

2

5

2

0

12)
127 × 41 =

1 2 7
0

0

0

0

2

0

2 0 7
5

0
4

1
1

4

2

8

7

8

1. 28,080

2. 51,324

3. 9,352

4. 22,630

5. 44,064

6. 28,730

7. 9,860

8. 52,745

9. 12,376

10. 37,072

11. 7,452

12. 5,207
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